Pre-Test

CHAPTER 8 SEQUENCES AND SERIES PRE-TEST
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1. Find the term 7, from the sequence: -23,-17,-11,...

Answer: (2 marks)

OJ:“’7 -—23 :(ﬂ éz _:__0’234_(23_' Q
£i--a3 é3 ) é’-?)’—/og
23 = [0F]

t23=7

2. Find the general formula from the sequence: 5,-3.5,—12,...

d': B3-S =85S

L,\ -S4 (/\ ,,\ (,093»> Answer: (2 marks)

‘Z - Leosilr) (4)

3. For the arithmetic sequence:. 23,25.6,28.2,...340.2 , which term is 340.2?

d =5, é _ 3% _j_&' & é\: éﬁh(/\«\} Cl Answer: (2 marks)

é{:&3 34(%2{9%4(/\4)9.(4 N=(d3
é/\T-SLfD-l A= 34/0.2-—23+/ . /Otzg
ne 72 -G
4. In the sequence the 5" term is 7 and the 14" term is —20 Find the first 4 terms.
3 B8
L? 7‘: B3 0 7 Answer: (2 marks)
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5. For the arithmetic sequence:. —70,—55,-4f, .. how many terms are less than 2048?

d=-SSep= 1§ 2048 >—70+(nf/>(f§>

é(r“'lb

N 2043 4y |
{n< 2043 (5 t
A=?2 N 14932

Answer: (2 marks)

N =/4Q.

6. Find the sum of the first 21 terms of the series: —140+—-121+-102,...

de=ral-—rmo = 19 o= ~thot(31-)(1)

—
—

Answer: (2 marks)

Sou = 40 SO

Answer: (2 marks)

S~ 9890

é) ="U'/O LZ/:&QO

n = ol S;LL :<~/‘ﬂ) Y246 (g_[) _
Chc? o—

7. Find the sum for the series: 14+8+2,...,—184

Loy ~18y% |2 +{n-1)

‘é\ = —’24 h ‘-‘-3/7[

d = 8-t 5,\=(/41u/8q>31/7

=7 -

8. A rubber ball is dropped from a very high tower and it takes 12 seconds to hit the ground. The ball
falls 2.4 m in the first second, 10 m in the second, 17.6 m in the third second and so on.

How tall 1s this tower?

d. 16-3.4 = 7. b éA:J,L/#OZ—'l)ZL
En> 80

él=c9./'/m

Answer: (2 marks)

S/zvSBZ).L/m
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9. Whatis 7, of the sequence: 62,-31,15.5,...
- .3/ = .y
M= 3/ Téz = /&
ti-¢2
Lo

Nn=7

/-

é‘): ) ("’é)
L-oagrs

Answer: (2 marks)

L-0.9.275

10. If the value of Mr. Roome’s $8000 car depreciates by 8% per year, then how much would it be worth

9 years later?

r=1009-3/5 = 99, -.92 G- .2

0|

n=9¢l-1D (,DILA%) Ly -377729

141= S0

Answer: (2 marks)

é/[) = $3/777 27

11. Determine the sum of the first 7 terms of the sequence: 3,-12,48, ...

S sH)

| =)

G, >
7 | 875 9?3)

Answer: (2 marks)

5‘1: 283/
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12. Determine the sum of Z[;]

Answer: (2 marks)

Si-0.53 L

fo 2

3 S“:Lé(/——%)”)
N = 4 H u ﬁﬁS’ZC/
4“(_34}_/)% /“é

. . . 2
13. Find 7, from the sequence that adds up to 215 with a common ratio of —

Se=als 5 -4
=2 -
[—

=S (I-r)

Answer: (2 marks)

é 7% (7/4@47

2
:o)/@((‘Z/S> ;7/2/3

14. Use the formula for an infinite geometric series to find fraction for 0.42424242. .

Answer: (2 marks)

42
g9

S<Hz 42 2
1% /u/o'm) /VNIDDO
-é - 2 _ 4= L2
( ._Li_ o= wo_ - T
1 0% L =
(00 /70
{\7 %‘% S:_L/_z; ﬁ ﬁ xﬁ - __zﬁZ—
[ 100 " 10D / 17 99
End of Test
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